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HH(Ref ID) 1(1951)

1AW ETAHE) Khamproh(2021)
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- o 77| Siriraj Hoapital, Mahidol University (CHSHH®)
o ATOHAX 2ET|ZE 2007'H~2018A
o HSFHRUHE)
- MY £HESEZ XK Obstructive sleep apnea, OSA)
O=LCHA o MEHV|E
A7 ~ 184 0A0] MOIOR ADiTkIZIALZ FIEHE) BI}

o ST U BT Bt
- SAZ/Hl e 38/11Y, 45.4+9.8

sS4 * ZN%: GA+TBRF
Hu SXH + H|W SIHH: Hyoid suspension +UPPP+TBRF
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i o ZXET|ZE HF 7.49+6.3(2.670¥~35.870%), FHLHET|7H0| CHAKR} OHC CHtst
FE L i

o EHHZ(complication)

Aoy -EZ2 25 &35 40EEE
- HW: UpppE i(EH)2 LEX 22(0 a2 & STUM, HESAIZ N 1Y
o PENIBE(EMI/ HluD): 33.3%/44.4%
S ==
A =8 TE2 el =2
(meanzSD) | (mean+SD) P (mean%SD) | (meanzSD) P
AHI(event/hour) 47.9+36.4 | 40.4+31.7 | 0.11 42.5+20.16 | 32.1+23.6 | 0.17
Apnealevent/hour) | 29.4+23.7 | 15.6+£18.1 | 0.28 26+247 | 17.7+235| 0.16
ApAM-54 4% ODl(event/hour) | 45.2+36.1 | 39.2+33.5 | 0.11 43.1+£24 | 33.1+£24.8 | 0.21
LSAT(%) 78%5.2 79.3£9.5 1.00 64.4+10 | 73.1+x12.7 | 0.1
Time 0290(%) 85.6+12.7 | 90.4+12.7 | 0.11 85.6+11.4 |1 91.4+13.4| 0.12
Sleep efficiency (%) | 79.4+17.7 | 91.5%55 0.28 | 79.4+18.9 | 86+5.6 1.00
Stage N1 (%) 43.8+36.2 | 8.7x10.4 0.11 22.2+20.6 | 25.8€16.4 | 0.78
Stage N2 (%) 45.2+20.2 | 65.8+7.2 0.28 48+17.9 | 449+18.6 | 0.78
Stage N3 (%) 7.8+13.3 | 9.8+10.2 1.00 | 12.3+106 | 7555 0.29
Stage N4 (%) 0.9+1.6 14.3+£3.7 0.11 16.8£6.8 | 16.9+8.7 0.78
P OSASHAL & L7 |LHE0| U= BXOIM sEX|as SHOEAAL SEZ0et &0 oM 2EN0=2
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R PSS
Genioglossus advancement, GA; Uvulopalatopharygoplasty, UPPP; Tongue base radiofrequency, TBRF
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CHALR A 0 YS @ =S ] 254 Eﬂgﬂ% H&MO= DEGHA fifl, S3Mo=z XgE +Hof
ALt
et O 0 == 1 =24 e
- = . OIRT|ZE0A SOISIUKXITE, LF FUXET|IEE &&5IH =&
==X LIS Lo Al e A = >
B =71 O%2 0== 0 =24 P
21} HIt H s 0O =20 =24 SHOHLAZENE AF8oI0 HII5IIC.
=SS Auk= H s 0O =20 =24 AEX|7t gict.
e =M= AZLS H|mst AT et EHXQ AME HO5IK
Mets 5} 90 Owg mgg Ogy SOEs HAS Hlrsh Qo0 iz SARE Sa2 2o
FI7tASH| X m S 0= 0 == Olsi&A gitt Ags=t
StH(Ref ID) 2(945)
1MXHESTAE) Chen(2014)
o Opdl= =
o CIFAA MEN G
HTSS . Rl Asfo) e
o ARCHMAL 2EIT|ZE 20094 1€~20114 1€
o EAHMELE)
- HMNE 2H2SE-XSE S5 (Obstructive sleep apnea / hypopnea syndrome, OSAHS)
o MED|E
- Nasal stenosis?| gl= 2t
o17ALHA " =
A7 - BMI 400|5t
- NUAMS, LHH|HS(Acromegaly)0| OF 2FAt
o AT I H|W 2 B Y
EM/ WAL 27/24, 43.0£9.25
=X o Z=XHH: GA+UPPP
H| W SXHH o Z=TH: simple UPPP
FHDE O Fmwa . xEBDR
A Za-orHy *  g¥S(complication): AF8tE
S ==
A S&H K=} 12718 S&H LES 1274
(mean=SD) (mean=SD) (mean=SD) (mean=SD) (mean=SD) (mean=SD)
REM 6.21+3.49 6.13+2.41 6.2745.26 6.22+3.56 6.19+3.26 5.9+2.65
S1 3774502 31.45+5.86 32.65+342* 37.14+589 34754537 36.13+548
ARAN-25M S2 46.76+£9.25 47.03+£7.34 45.23+5.65 46.94+5.66 49.34+4.91 47714585
S3 90.32+4.61 15.36+4.49 16.23+£347* 969+2.% 1344+2.%6 12.23+3.02
SH( 46101326 BHH* 6.17+1885* 4.00+1814 24.12+41.25¢ 0B+1006*
Sp02(%) 69.39+13.41 81.2+4.92* 82.6+4.32% 63.19+7.74 79.31+6.30% 82.25+5.11*
CT90 24.30+4.87 12.23+£2.78* 12.46+3.65* 26.11£6.48 12.75+6.78* 13.06+7.80*
*p (0.05 vs. baseline.
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Miller's test was done behind the soft palate in the
nasopharynx and at the epiglottis at the base of the
tongue, and the extent in the reduction of the
= =3 H 2 0 =3 0 == pharyngeal cavity including the posterior pillar of the
fauces, oropharynx, and laryngopharynx was observed
and photographed.
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